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% Modeling the normal and uniform distributions

n=10000;
$Normal distribution

subplot (2,2,1)

variance=25;

mean=10;

x=s8qgrt (variance) *randn(1l,n) + mean*ones(1l,n);
hist (x)

xlabel ('amplitude')

ylabel ('normal distribution')

subpldt(2;2,2)

plot (x)

xlabel ('sample')

ylabel ('amplitude')
title('normal distribution!')

% Uniform distribution

subplot (2, 2, 3)
y=rand(1l,n});

hist (y)

xlabel (tamplitude')
ylabel ('number of times')

subplot (2,2,4)

plot (y) ,

xlabel ('sample"')

ylabel ('amplitude')
title('uniform distribution')



result after rolling 12000 times

result after rolling 120 times
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% Dice experiment (a random experiment)
% Feb 1, 2007

nplot=4;
nx=2;
ny=2
$ nroll=[120 1200 12000 1200000];
nroll=[200 2000 20000 2000000];
for i=1:nplot
subplot (nx,ny, i)
yl=ones(1l,nroll(i)) +floor(6*rand(l,nroll(i)));
hist (y1)
axis([1 6 0 nroll(i)/41);
xlabel ('amplitude')
ylabel (strcat ('result after rolling', num2str(nroll(i)), 'times'))
end




normal distribution
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